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SARDAR PATEL UNIVERSITY

- B.COM (Semester- IIT) Examination
Saturday, 19" November -2022

i J/, Time: 2.00 P.M. to 5.00 P.M.
=7 UB03SCOMB3: REASONING ABILITY - I
. TOTAL MARKS : 70
Write a short note on importance of Aptitude. o &)
Differentiste between reasoning ability and general knowledge. 7 {9
' OR

Give meaning of public Examination and make a list of pubhc exam, Explam any of them in (18)
details, - _
Each c}uestion is compulsory & carry one mark. . . : '_ B ' ey

TIGER :: QDFHS FISH :: ?

(A)  GERH (B)  GRHE
(©)  GREH S () GHRE
Which word ddes, not being with others? |

(A)  Guitar : (B)  Flute
©)  Violin . (D) Banjo
“QPO, NML, KJI, . EDC

(A) HGF - (B) CAB
(C) JKL ' (D) GHI

If the iettels of the word 'CYCLINDER' are arranged alphabetlcally, then which letter would
be farthest from the first letter of word? .

A) N ® E

© Y : (D) R
In a certain code 'SEQUENCE' is coded as 'FDOFVRFT How is 'CHILDREN' coded in that
code? i
(&) OFESJMID ‘ (B)  OFSEMIID
©) OFSEJTMD . (D)  OFSEJMID
LIGHT:BLIND _
_ (A)'r ' _-spee-gh: dumb . A (B) . language: deal
L (C) tongue: sound | | (D) voice: vibration
AFTER:BEFORE |
(A)"  first: second : | (BY  -present: past
©) - contemporary: historic (D) successor: predeéeséor

Axch]tect Building: Scufp’[o;‘?

- (A) - Museum _ (B) Stone

) Chisel (D) Statue

(jfl“fo.,)




o2y

®)

(10)

(11y

(13)

a4
15).
“(16)

(17 -

M

L Yea1 Item of Expenditure
Salaly Fuel and Transport | Bonus | Interest on Loans | Taxes
'1998 288 98 3.00 234 83
1999 | 342 112 2.52 32.5 108
2000 | 324 101 | 3.84 41.6 - 74
12001 |1 336 133 3.68 | - 36.4 88
2002 | 420 142 3.96 494 98

My uncle decided to take ...... and my sister to the market.
Ay I _ . (B) Mine

'(C) Me . : (D) Myself

Instruction f()f"QWSIiOﬂ No. 10t0.13
Five gitls are sitting on a bench to be photographed. Seema is to the left of Rani and to

' the right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary

Who is -éitting immediate right to Reeta?

(A)" Bindu : (B) Rani
(9] lMar.y h 7 (D) Seema -
Who is in the middle of the photograph?
(3) Bindu : (B) Rani
) Reeta (D) Seema
Who is second from tﬁe right?
(A) - Mary o (B) Rani.
(C) Reeta (D) Bindu
Who is second from the left | in photograph'? _
(A) Reeta ‘ (B) Mary
(C) Bindu . ‘ (D) Seema
(HI (2) lmmedzately (3) Salary (4) my (5) want
(A) 43152 (B 15432
©(C) 25143 (D) 42351
fi) medicine (2) a (3) Neeta (4) given (5) was
(A) 51423 (B) 25431
(C) 15423 - (D) 35421
2,4,12,48,240, 7 - '
@) 9% | (B) 1440
©. 1080 . D) 1920
Country: President :: State : ? ' ' _
(A) Govemo’r. (B) MP
- {(C) Légi_slator. ' (ID) Minister

Each question is compulsory & carry one marks.

For questidn 1to 5

Study the following table and answer the questions based on it

Expendltures of a Company (in Lakh Rupees) per Annum Over the given Yeals

What is the average amount of interest per year which the company had to pay during
this-period? : :
| L2

(18)
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()

@

©

(A)  32.43 lakhs (B) 33.72 lakhs

- {C).  34.18 lakhs _ (D) 36.66 lakhs

The total amount of bonus paid by the company during the given pe}lod is

'appmxunately what percent of the total amount of salary paid during this period?

A 01% , B)  05%
© 1% : (D)  125%

Total expenditure on all these items in 1998 was approximately what percent of the

" total expenditure in 20027

(A 2% . ‘ B)  66%

© 9% | ™ 7%

The totaI cxpend1ture of the company over these 1tems during the year: 2000 1s‘7
T(A) - 544.44 lakhs (B)  50L.11 lakhs

(©)  446.46 lakhs ‘ . (D} 478.87 lakhs

The ratio between the total expenditure on Taxes for all the years and the total
expenditure on Fuel and Transport for all the years respectively is approximately?

@ 47 B 10113
© 1518 , D) 58

| For guestion ¢ to 10

©

(M

" I Study the following‘ﬁne graph and answer the questions.

- E}iports from Three Companies Over the Years (in Rs. crore)
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= Company X —#-Company Z . Company Y

For which of the following pairs of yeals the total exports from the three Compames
togethel are equal? :

(A) - 1995 and 1998 - (® 199 and 1998
(©) 1997 and 1998 (D) 1995 and 1996

Average annual exports during the given period for Company Y is approximately what
percent of the average annual exports for Company Z.?

(A 87TI2% (B)  89.64%

Gy - e




®

(9)

T

(L1)
(12)

(13)

() 91.21% ' (D)  9333%

In which year was the difference between the ‘exports from Companies X and Y the:
minimum? ' ) _

(* 1994 - . ® 1995

© 199 (D) 1997

What was the difference between the Iaverage exports of the three Companies in 1993

- and the average exports in 19987

(A)  Rs.1533crores : (B) Rs. 18.67 crores

(€Y Rs. 20 crores : (DY . Rs.22.17 crores | _

In HOW ‘many of the given years, were the exports from Company Z more than 'the_
average annual exports over the given years? '

Ay .2 : B) 3

© 4 @™ 5

Instruction for Question No. 11 fo 15 : The following pie-chart shows the percentage

' distribution of the expenditure incurred in publishing a book. Study the pie-chart and

the answer the questions based o it.

. Various Expenditures (in percentage) Incurred in Publishjng‘a Book

. Prornation CGSL\
10% ‘ Transportation

CosE
16%
r

If for a certain quantity of bdbks, the publisher has to pay Rs. 30,600 as printing cost,
and.then what will be amount of royalty fo be paid for these books?

(A)  Rs. 19,450 . (B) ' Rs. 21,200
(€©)  Rs.22,950 - (D) Rs. 26,150

What is the central angle of the sector corresponding to the expenditure incurred on
Royalty? ' o

®) 150 - | L ®m e
Cy - 54° D) 48°

The price of the book is marked 20% above the cost Price. If the marked price of the
book is Rs. 180, then what is the cost of the paper used in a single copy of the book?

(A) . Rs.36 (B)  Rs.37.50
©) © Rs'42. S (D)  Rs.44.25

[ 43 @3’5‘-9)
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(15)

(16)

(17
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Subject ' Marks out of 50
‘ - 40 and 30 and 20 and 10 and 0 and
' ] ~ above -above above above above |
Physics , 9 32 80 92 |- 100
| Chemistry - 4 21 |66 81 - 100
Averagé -
(Aggregate) 7 27 73 87 100

If 5500.copies are published and the transportation cost on them amounts to Rs. 82500,

then what should be the selling price of the book so that the publisher can earn a profit
of 25%7

(A).  Rs. 18750 , (B)  Rs. 19150

(€) " Rs.175. - (D)  Rs. 180
.Royalty on the book is less than the pri‘nting .cost by:'

a . 5% - (B) 332%
©  20% O 25%

Instruction for- Questmn No. 16 to 18: Study the foilowmg table and answer the
questions.

C1a881ﬁ0at10n of 100 Students Based on the Marks Obtained by them in Physics and
Chemistry in an Examination,

What is the different between the number of students passed with 30 as cui-off markq

in Chermstry and those passed with 30 as cut-off marks in aggregate?

(A) - 3 . | _ B 4
© 5 . @ 6

If at least 50% marks in Physics are required for pursuing higher studies in Physics,
how many students will be eligible to pursue higher studies in Physics?

'.(A) 27 . 3B 32

© 34 : o) 41

The. percentage of number of students getting at léast 60% marks in Chemistry over
those gelting at least 40% marks in aggregale, is approximately? :

(A) 21% (B) 27 %
© - 29% ' (D) 31 %
Instruction for Question Ne. 1 to 5 : Study the. fo[lownlg paragraph car efu]ly and answer (a7 -

the questions given below:

Mahatma Gandhi believed that industrialization was no answer to the problems that plague the
mass of India's poor and that villagers should be taught to be self-sufficient in food, weave
their own cloth from cotton and eschew the glittering prizes that the 20™ century so temptmgly
offers. Such an idylic and roral par adlse did not appear to those who inherited the reins of
po]mca] power

The meaning of ' glittering prizes that the 20" centus 'Y 80 temptm(rly offers is

(A) _pursutt of a commercialised material (B) replacement of rural by urban
culture ‘ interests
(C) - . complete removal of poverty {D)  absence of violence and corruption

The basis of 'an idyllic and rural paradise' is
(A) rapid industrialisation of villages ' {B) self sufficiency in food clothes and

CsD) 0)




simplicity of the lifestyle

(C) - bri 111g111g to the villages the ghttelmg (D) supporting tl_iose holdings powerful
prizes of the 20" century political positions

(3)  Which one of the followmg best illustrates the lelatlonshlp between the phrases:
(i) eschew the glittering prizes' and
(ii) idyllic and rufal paradise'?

(Aj unless you do (i), you cannot have (B) (i) and (ii) are identical in meaning
(i), | |

(C) - furst of all you must have (i) io order (D) - the meaning of (i) is directly
to do (i) _ ‘opposite to {ii) :

(4)  Mahatma Gandhi's views opposed industrialisation of villages because

G it would help the poor and not the (B) - it would take away the skill.of the

" rich : villagers _
(S it would affect the culture of the (D) it would undermine self-sufficiency
Indians . and destroy the beauty of life of the

' villager

(5) Mahatina Gandhi's dream of ‘an idyllic and rural paradise' was not shared by

- (A) . those who did not believe in the (B) those who called him the Father of
industrialisation of the country . Nation -
{C) _those who inherited political powers (D) those who believed that villages
after independence should be self-sufficient in food and
S ‘ cloth

Instruction for Question No. 6 to 11; . _
Choose synonyms/similar word which best expresses the meaning of the given word.
(6) - Humble

(A) . Bold - (B)  Modest
(C)  Dismal - . D) Grave
7 | Purview _
U (A)  Durability - (B)  Amenities
(C) Scope _ ' (D) Stricture
‘@) Suifs
© (A) " Philippic o (B)  Discord
©(©) . Hammock (D)  Objurgation
(9 Assortion o |
(A)  Discussion ' (B)  Rejection
_ ) Declaration _ : (D) Continuation
(10) Prudent - c ,
| (A) . Hasty - , (B)  Cautious
(C)  Reckless ' M)  Rude
_(i,l)_ Pleasant
(A) Tiresome (B) Tedious
{C) Refreshmg : (D) Exasperating

: Inslluctlon for Question No. 12 to 17:
Choose the word which is the exact antonyms / opposite the meaning of the given word.,

C6)



" (12) BALANCE

(A)- . -Disbalance | : (B)  Misbalance
(@) Debalance | (D)  Imbalance
13) LIABILITY |
BNONE Property : ' (B) . Assets
© Debt - o (D)  Treasure
(14) VIOLENT ._
‘ (A) ~ Humble - (B)  Harmless .
N (®) Gentle : () Tame
. (15 GAIN ' .
| (A) - Toose - | . B) Fall
©  Lost | D) Lose
(16) PRELIMINARY N _
(A)  Final . (®) Tirst
. (Cj ~-Secondary A | : (D) Imtial
(17 ENCOURAGE |
h (A). - Dampen . o (B) . Disapprove
- {O) Discourage : D) Warn
b1

C+)
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My uncle deci ded. to take ...... and my sister to the market,

A 1 - : : (B)  Mine
(C)  Me ' (D)  Myself
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